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o : Plan () Fourth Five Year Plan
(Y Fifth Five Year Man . () Sixth Five Year Flon
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wneo= (D) Ok e T

i .H'mml high‘:ﬂ;};ﬁ |li:é|l=]!'l_|-"'|._1:;1l_'r tr Bikaner in Rajasthan 7
wniL‘h one -I:I-|.- ““ P]'l.m I, )

N, H. #9 {7 M. H. 69

[JEI] '['-’I Hl- jH 2 - OF UNEE i &t S 7 A b
{ JEH.HT@“W'. (B} T ™Y 79

Ay T OF g9 (D) =1 T3, 6

L : :

% - ; ,
(cy o n##j, production, Rulusthan is number one n India 7
o FY Tignin
D) fron

_ﬂwﬂﬂmmﬂﬁﬁ'wmﬁt?

(B} W
{0} =g

13

e FD"D“W




65 Which one of the fallewing i the
forest area of Rajusthon acooring m_
R ¥t Hi frovd 2017 F AR
W R s ym'gﬁg-ﬂiaa'-ﬂ"ﬁﬂmh _
(A 38.71 {B) 35.64

gtate of Forest Report 2017 7

(C) 6.25 @) 4.54
66 Shergarh wildlife ares i3 sitnated in which of the fﬂ”-:‘.l'l.!.'in_g districts 7
{A) DBamn (B) Udaipur
':_F“!' JEIi|1|.|r I:D] Biﬁ:ﬂm‘r
T T o i Pefnen f 4 e BE A flam B
{A) amd (B} FEgyT
{C) v (D} AT
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HET 1 i
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(A 16 o =

(Cy 16w = (B) s fegmy W
B} 169w

&%  Which one of the :Ii.li.l-cm.l.-iﬂE A

{A]  Mitrate * ety of Blye Bahy syndrome 7
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TefFe
(A) g
(B) @
© fz
(D) T

The longit
(A} 69°3
(C} 6973
THHETT &
(A) 69°3i
(C) 6973

What is het
(A) 1722
{Cy 1380
B g
(A) 17327
(Cy 13801

Which one
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tA)  Sikar
() Jalore
T & T
(A)  Hry
(€1 e

"Phulwari ki |
(A} Udaipus
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(A) agur #
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{C} ey —
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(D) Konagaon {Ganganagar) 1y Bakhasar (Barmer)
el TE W A Y gy &

(a) Trrgrmemie (TR S () o

(B) HOWE (T # smwg fnedv) T

(Cy TegerEE (TR | gmene (w6

(D) wreriE () W v (aEET) a9

=2 The longitudinal extension of Rajasthan is :

(A} 69°30°E to 78°1T E (B) 69°30'E w0 7817 W

(C) 69730 W to T8°1TE () 69730 W to 78717 W
T w1 Ay P ®

(AY 69530 QT & TRUIT O () 69030 el & TRCLT i

(C) 6930 wivedy & 7817 7 (D) 6930 uiyendr @ 78°17 ol
T8 What is height of Peak Ser 7

(A} 1722 metet (B} 1597 meter
(C1 1380 meter D) 149 meter
AT uda A S w e
(A) 1722 9 (B) 1597 izt
(C) 1380 WrET (D 1496 W7
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88 The fruit of Sorghum
(A} Cypsela
[C) Achene
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(A) firdrn
{C) e

86 The term biocoenods v
(A)  Tansley
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101 Which of the following is o in relation With homones released by human placensz o | (06 Match Li

12

103

04

105

LAl48) 3

(A)  Estrogen el
(B) Placental m Esiogen #nd Androgen

(C) HCG HPL, Progesteronc and EStTOECN

(@) HCG, Progesterone and Androged

A ST g Pt e 6 R 4 P S Rl g

(A} TREA v uvEEe

(B) wiew TR, TEE O TR
(C) wdaf, vado, e © TR
(D) s, s o T

Al the time of eonduction of serve impalse, the lartzati i
Ef‘:]: R At K nk mpq (B) Effux of No* et
' ux of K* ions (D) Efflux of hoth Na* and K* jons
o s 3 S 3 e g g o o e § - T
EE: :i e ﬁ e (B) Na* omowf o afidars

; et (D) Na* ud K* st & sfifae
Select the statement for hy e
(A} Mid-brain has t:; ﬂpl“ﬂhlﬁn which is not correct
(B) Corpus callosum

LDt [
(C) Hypothalamus has b U Gerebral hemispheres,
(D) Medulla oblongaia o S0

CORILS ] T e
"R wiwe & frn e voluntary activities,
(A) mmaﬁﬁmﬁﬁq.mm%ﬂg:
(B) mﬁmﬂmw
© T ¥ by gy A
B

The discrimination in the
U 0 s
Virying IMtensities is done by which part of human car?

(A) Bacculus

(T}  Basilar membrans

Pue s o1 st a3 g Eg} Ultrieulus
L B

() e Ressiner's membrane
(C)  airarlra {B}‘Wmhmmt?
Which of the following g (D) e ot =

E.E} mn:l change in the k"mh : iz Nat
i I 0 e i !
tc; Anh:::wm,-"ETEﬂEHM ur;:“"fl Arrect for a striated muscle when jt cortracts |
e S 3 ey

¢ gy 3
(A) 1T o ek 3 g g
(B) i Tl o owty 2 Pothiiigr it
(©) A g o et d *ﬁfﬂ,l AR LR T
(o) mmtﬂmﬂm%h T By

ANSWET

List
(a) Pori
k) Platy
(¢} Nem
(d) Chor

(A) (&) (iv),
(B) (a) (iii);
(C)  (a) (i)
(D) (a) (i), (i

107 Which enzyme
(A} Trypsin
(T} Pepsin
I B U
(A) faftes
iy dfag

Tog Which of the foll
{A) Spleen - Bil
{B) Sinu Atral B
(C)  Tricuspid va
(D) Thebesian v

i & BF
(A) g — fawrdi
(B) fry anferg ¥
(C)  Frmgd] et -
(L) drifyge wTE
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102
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105

- elation with hormones released by human placeng o
ot
Which of the following ¥ Androgen
(A) Estrogen and Androg®® Estroget m:n
(B) Placental Gnnﬂdﬂ;ﬂr'ﬁ | Esr’t:ﬂﬂ
(C) HCG, HPL, Prog roge

(0} HCG, Progesteront ﬁ,i:"gﬂqﬁﬂ # e A W owd k7
HITE YT I IR

(A) e Te O j QU

(B) Wiew AR, %@ g

(C) wade, T,

(D) vad, e o

At the time of conduction of nerve !
(A) Influx of K* ions

s¢, the repolarization occurs with the -
(B) Efflux of Na* ions

(C)  Efflux of K* ions (D) Efflux of both Na* and K* ions
GIEED mﬁﬂtﬁﬂwtmﬁﬂﬂ“ﬂmﬁ%mt_

(A) K+ &l @ swaian (B) Na* o=l ®1 =fedam

(©) K+ smgat = afidam (D) Na* wd K* srg=i &1 sfevdams

Select the statement for human bram which 15 not correct
(A} Mid-brain has two optic lobes,

(B) Corpus callosum connects two cerebral hemispheres.
(C)  Hypothalamus has hunger centre,

(D) Medulla oblongata controls invel ivilies.
A Aftss & fmqmwwﬁm;gv;uﬁﬁﬁ ;
(A) o A § D g et i

(B) #i| HHEA 51wt el B Wear &
(€) mﬁrﬁﬁwﬁ"l{gthgﬁh ' '

The discrimination in the s

und of yapyir . .
(A) Sacculus aYing intensities i by which or?
(C) Basilar membrane ities is done by which part of human e

(B)  Utricul
ﬁﬁﬁmﬁmﬁﬁwm%fgg triculus

Ressiner's membrane

(A) G ;
(0 At {E}ﬂmm‘rﬁmrﬂmt.
Which of the following (D) i @ @

{A)  No change in the g

| i3
(B) Mo change in the ﬁg:“fi b&nﬂ;t orrect for a striated muscle when it contracts 7

(L) A band retaing jig of .
(D) Sarcomere m“m:?ﬁ‘ Myosin band,
fleg,

%
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enta 9 (i

T ——
Match List-1 with p |
Ames of

. i_'l f o :
w'ls"-'rf:'-. : g byl with List-IT with structures and select the correct

5=
(a) Porifera ~ Listn1
(c) Nemathelminthes [“j Choanoeytes
(d) Chordata M} Phasmids

':"“I} Malpighian iubules
(vi) Post anal tail

Hﬁi'ﬁﬂqﬂﬁ'{ﬁﬁ.lﬁm

-1 S w0 & AW HE a0 e INT H T
Hal-11 :
(a) T dl. S )
(b) TErEeET i ﬂ;{a‘:ﬁnﬁm
(c) Tzt (i
(d) s i) mﬂ“ Emﬂ_
(v) Bedrhr wfesnd
(vi) T¥aTE T

(A) () (iv), (i) (b) €0 (©) (v (&) (vi)
B) (a) (i) (o) Q). (i) (o) (i) (d) (V)
© (@) (i) (b) (i (o) Gii); (d) (vi)

D) (@) (i), (ii); (b) (v (<) (Gi; (d) ()

07 Which enzyme does not digest proteins present in food 7
(A) Trypsin (B) Ch cin
[ Ear 7 {F} P‘:Pbiﬂ '[:D:] Lipﬂﬂ.
; mmwmﬁmﬁmmmqﬁm?
(&) Fefma (B) i
(Cy SfE= (D)
08 Which of the following is not the matching set 7
? (A) Spleen - Billroth chords
P (B) Sinu Awal Node - Pﬂ::lmakiirn
{C) Tricuspid valve - nitral VY=
(D) Thebesian valve - In right :m;““ of human heart
Prefufas & & @y gafea 7 ¢
(A) winer — faercrd TG
(B) fordy st S - rrﬁ;ﬁf‘
(C) Fred wae — f‘ﬁ:ﬂ bl N
D) eifgs ®IE e
21
p.T.0- “Algg | O

h
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which is not correc - with Karyotype in column - 1T and select the asve
Column - |
C
() Edwand's Syndrome o <
(B) Patau's Syndrome nsomy 18
(€) Tumers Syndrope Loy 13
(@) Klinefelters Syngryy, ;ﬂﬂﬂm? 21
-1 ¥ R firiy = - AXY
Y - ]
(A) TEady firsly .
(B) vz oy T
(C) & faiy " W |
D) Fomen Fhregim " Wt i
N2 The animaly of whigl & "y
(A} Whale, Pigegy 1 P i
» Flgeon,
©) Whale, Alliggey ™ J1"&”r"’“‘'2'-I=rmin ?
firsy & B4, Pige
(A) ;ﬁ% o “"*‘Tﬂrm EE’ Crocodile, Alligator, Bat
C E"ﬁ:. '+ Ty mﬁ'ﬁr% ] ) Hippocampus, Bat, Alligator
© 3, Wy,
LAl-48] O ®) Brverm, dli, s

g oell 15
™

Th RA " LR

i a"‘;”d;ﬁﬂmﬁ@m (B) rRNA
(A) t-RNA (D) m-RNA
(C) mi-RNA

In M pe i1 "h“““wi‘:ﬁ'fﬁﬂ was -

1 Mendel's experimenis © ) yellow) : 3 (Wrinkled, Yellow) : | (Wiink]

(A) 9 Groen) :  (R0u08 YOV | e,

® E?E Gl 1 (R Grcen) : 3 (Wrinkled, Yellow) - | (Wrinyjeg |
ki, (Rowd, Green) : 3 (Round, Yellow) : 1 (Wrinkleg g

(C) 9 (Wrinkled, Yellow): ? . .
(D) 9 (Wrinkled. Grem]:HR':'md' Yellow) : 3 {Wrmlclad,l Yellow) : | (Round, Gy

%em % i +f Ty mewd ¥ A1 -

(A) 9 i, ¥y : 3 iw, ) < 3 TRIT, W) < 1 (gffem, =)
(B) 9w, 4 : 3 (im, 1)+ 3 (g, 9 1 (glfw, W)
©) 9 (glfar, 4w : 3 (e, &) : 3 (i, ) - 1 (grlem, )
D)9 glier, %) - 3 i, &) 2 3 (glfere, 9 ¢ 1 (i &)

Match the Syndrome in cojigyy .

D) fidireg, s, e
22 ] pIv



1 Androgens &r& secreted py
(A) Sertoli cells ]

(C) Tunica propria 1o cells
R RCH I TG g ;ﬂnfamgﬂniﬂl cells
() G @i
() Zf st @) AT PR
(o) W FHITYTEHI

II"r B.m:lerial diseases in man are

(A) Typhoid, pla ;
(C) Diphlheri:: Iilu:]:mmmm . (B) Typhoid, plague, typhus
onia, iﬂﬂuM ED:' Plﬁsue"v Iﬂ.ﬂlﬂr-iﬂ-. t}'P‘hﬂid

(a) TS, @, W
' B) TEEES, W T
© P, A, g () S, O, T

1§ Select the correct set of homologous organs -

(A) F{:-ﬂ:limb of man, wings of birds and flippers of whale
(B) FnreI!mb of man, wings of insects and wings of birds
(C) Forelimb of man, hind legs of horse, Wings of birds
(D) Forelimb of man, tail of horse, wings of bat

mﬁ#aﬁﬁzﬁrwﬁﬁﬁ-
qﬁﬁwﬂmﬂﬁ&aﬁmﬂ

(€) qﬁﬂ%ﬁ:m,eﬁﬁmﬂm.ﬁ:aﬁm
(D) W#W,ﬁﬁaﬂ-m#w
6 Connecting link between phylum Annelida and Mollusca is -
{.I"-'q.:l Pgrj.{]ﬂfnf {B} Neﬂpfﬁﬂﬂ
(Cy  Chiton (D) Nautilus
Wy uefET TE A 2 dos L
(A) T B) Frsitmgr
" Munga silk is pbtained frott PR EE-) Anthe
(A) Philosamia ricini D) H:m Faea assamd
(C) Antheraed paphia §'7 byx mori
o e PEE BT W '
E Reciirfirar O ®) @l o
(D) Fiigw whw
(C) o=dar dfedr n
[PT.O.
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119

120

121

¢ N, P, S follows the order -

i _
Thie Sirract spder of 3[4]{]1": 5 .H-ﬂ' & %
a@l ¢, N, p, § & T B) N<C<p<s
(A) N<Cce§<P (D) C<N<p<
S
(C) C<N<S§<P
-4 indicates the val -
In the modemn periodic table, . ]nﬂ;} atomic i:r:. )
[l 15
A)  atomi 1
(A) atomic number (D) azimuthal quantum number

(©)  princi -
mgigﬂﬁ:ﬁﬁﬁmﬁﬂﬁmﬁaﬁamng?
(B) TTAM wemwi

(A) STHI] H&m
H— (D) ﬁ#shﬁmqﬁw

The element that has highest ekctron gain enthalpy is -
TETH el Tl am A b -

(A) F (B) (I

(€ 0 ™ N

The el '
e l:_l:tmm:gahwhes of the following elements :
H, O, F, 8 and O] 'm:rm..-inthuﬂrdnr
ﬁwaﬁfH.D,ESﬂhn%ﬁqﬁgaﬂmﬁmmﬂﬁTm%
(A) H<O<F<§<p ' 3
() H<8<0<Ql<F o iy g
D) H<S<Cl<O<F

122 The percentage of 5 ch
i ;
Py P-p wil 2 iy " the orbitals forming P-P bonds in Py is -
(A) 25 ﬁ“*ﬁwmw&mat—
(C) 50 (B) 33
D) 75
123 The interhalogen COm Py
Hertewte diftre o R has g oo
€IIc structure is -
(A) EIFH q-;q.r
(C)  Br, o
B
LAL4g ] (3 o
D) 1F,

[RTO:




(A) Surface tension P¢ because of - ‘

(C) Downward motigy, (B) Capillary action I

i @ 45 ey HERT g (D) Acceleration due to gravitationa| foree
() A @ e iy (B) i

(D) e 99 & FT TR A

oo Termn 1 v
.3 PELAITC, sodium crystallizes

it a body centered cubic lattice with edge length
a=424 A. The theoreticy]

density of sodium (At. wi. of Na = 23) is -
TR E TR T W vl s o e S & | P Rt 2
a=424 A ¥ oifeam (Na %1 qeamy upy = 23) 7 S o9 & —

(A) 1.002 £ cm™ (B) zmz g em™
(C) 3.002 E cm—3 (D) 4.002 g-‘-'.-'-l'ﬂ_j

4 Which type of 'defect’ has the presence of cations in the interstitial sites 7

(A) Frenkel defect (B) Metal deficiency defect
(C)  Schottky defect (D) Vacancy defect

o ats o g A ofaransht v # wema 9 auflafy e ¥ 2

() ¥ e/ B) By =g 3

(©) sz @ (D) e fe

1% Coordination number of sodium ion in sodium chloride crystal is -
Wi TS fpew § Gifsad I W WY e &
(A) 3 (B) 4

iC) & =) %
pnditions is pot correct for ideal solution 7

n mixing.
n ['I'!ixing-'

Which of the following ¢
(A) No change in volume ©
(B) No change in enthalpy ©
{C) It obeys Raoult's law: T ———
(D} lonisation of solute shoul ;

e ¥ § o 4 Rafd mﬁ;ﬁqﬁaﬂq#ﬁﬁm|

| P
‘M'"':I*E] ﬁ : [ T-'D.
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7

‘e G

(A) They have ]dmhﬂﬂl At
B) They have nearly g oo en! of aoms.
() They have same no_ ¢ T
) They have identica) bondisg 5.
Preftiae wUEt ¥ 3§ S '

- ik ﬁﬁqﬁﬁﬁmmﬁmgﬁqﬂt?
£) ST e oy o K —

(D) T TN SEEA P ¥

staggered conformation of ethane is -

(A) equally stable as cclipsed conformation,
(B) more stable than eclipsed conformation.
(C) less stable than eclipsed conformation.
(I} impossible to exist.

Ehﬁﬁﬁﬁﬁm%ﬁmﬂﬂmﬁgﬁ—
(A) P —— 8RR
(B) e T @ v e g ¥

©) T g & @R WA W E

(D) sty o =80 ¥ |
L{:;m? ?;‘,imnw! fhymipf:uﬂpaﬂelﬂujﬂr (B) 2, 3-dimethylbutane
: (D) propane
(C) 2-methylbutane 3 T @ A Pt o .
) 2 EM () 2.3
gl (D) W
(€) 2-AfermegeA

hgnﬂﬂfrﬂ““e“"“‘mdﬂth}'m towards addition resction is -
(B) Eﬂlitm
(D) delocalization of e
©) s CaE t-ﬂnuf{:ammg = ﬁ';ﬁn f e, ;.
bpzhybﬁdliﬂ’ﬁgﬁqﬁqafﬂim g #r wn fpmefiean & B0 E
dners afatware (B) i wagty -
W) 3% GBI ©) W a1 P
© ke syl ¥ P

Reason for less reactivity of
Tl L L

25 B




e e B el e s o A

in wiological reaction in humap body ?
128 Which pump is important (B)  K-Fe pump

(A) Ca-Mg pump (D) Fe-Ca pump
(C) Na-K pump A 0q W ¥ ?

qrg s § S B 9 B) K-Feta
(A) Ca-Mgdq (D) Fe-Ca tg
(C) Na-K dq _

129 The vapour density of completely dissociated NH,CI is
(A) double than that of NH,Cl
(B) half than that of NH,E'E'lJ

t of |

EE:; E;?nrhy tt:H;mmmt of solid NH,CI taken
o fordifers NH,Cl %1 =91 o7 & —
(A) NH,CI % g7
(B) NH,CI® aman

(D) Taq e Bm NH,Cl i wm 4 frefi 2

130 Acidity of BF; can be explaineq on the basis of which of the following concepts 7
(A) Arrhenius concept _

(B) Lewis concept

(C) Bronsted-Lowry concept

(D) Bronsted-Lowry as wy)| a8 Lewis g

BEs ™ ﬁﬁﬁ%hﬁﬁ@%%wﬁwﬂwmt?
(A) STEFTE srEumy o

(B) ®FH SEHT uy

131 When some acid is
(A) changes with an iy, “’ﬂht:-'t, the jonic product of water -
(B) changes with a e = PH.
(C) remains unchangeq PH,
(D} becomes zero,
WA A W B FB
(A) pHH IE & my k
(B) pH ¥ %l & wy Yrags |
() i uftaty LR
(D) 473 & ek

I LAl-48] O -
26
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o Rain drops are spherical in gy,

(A) Surface tension because of -
) Downward motion (B) Capillary action ‘
ot X IEET SvERy B gy (D) Acceleration due to gravitational force
(A) T8 TE &, TEw T ¥ -
) A B e (B) HRmmEET
(D) T T ¥ I W A

@ At room tﬂmpﬂmmm. sodium crystallizes in a body centered cubic lattice with edge length
a=4.24 A. The theoretical density of sodium (At wt. of Na=23) is5 -
Rt % an WX W B Haw wdhe wes § fredig o 8 | frd Ry 2 W
=424 A ¥ GfEEE (Na @1 woamg) wig = 23) @ FErew T & -

(&) 1.002 g em™3 (B) 2.002 g cm 23
(C) 3.002 g em™ (D) 4.002¢g cm™3

4 Which type of 'defect’ has the presence of cations in the interstitial sites ?
(A) Frenkel detect (B) Metal deficiency defect

(C) Schottky defect (D) Vacancy defect
e i | ﬁm&ﬁmﬁﬂ’wﬂrmﬁuﬁmﬁr% 7
(A) e Fie/ET (B) =g =N A/

©) itz A

 Coordination number of sodiv™ ion in ;ﬂi“m ﬂﬂﬂﬁdﬂgmfal is -
- gifi o B A dem ¥ -

Hifen erEs e 1 iy

ig; :; (D) &

% Which of the following €™ " ixing
l:-ﬁ":l Mo change in vﬂhﬂﬂﬂ a0 m.i'ﬂ:iﬂg-
(B) No change i enthalP¥ |
(C) It obeys Raoult's Iaw-hnuid pocurs o8 small extent,
(D) lonisation of solute & e % Rt WE AE X 7
P & & @ @ R ﬂ"“ﬁi ﬁqﬁ'ﬂﬂﬂ"’lﬂfﬁl‘l

(A) mmﬁﬂaﬂﬂ"ﬁﬂimqﬁmq

(®) Sy 0 T ¥

() wmﬁﬁuﬂﬂﬁﬂﬁﬂqﬂql

D) o 27 [PTO.

EM”‘E] O M
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137 The mole fraction of NaCl 7@ solution ContamIng 1 mole of Ny

—_ in 1000 g of waer i
| §1| NaCl % 1000 g 7 370 ﬁmmﬁ%ﬁﬁ%—

B) 0.00
(A) 0.0177 ED; 0% T
(C) 0.5 e
138 According to Raoult's law the relative lowering of vapour pressure for a solution js equal
o -
(A) Moles of solute (B) Mole fraction of solvent
(C) Moles of solvent (D) Mole fraction of solute
e & frowEn us e & oEE ¥ i s ey g -
(A) fom & A & (B) T & w9 fo=y &
(C) faeras & d5W & (D) faeg & o firsy &
139 How many grams of NaOH will be needed to prepare 250 ml. of 0.1 M solution ?
250 ml 0.1 M fafms T & R NaOH % forad o &) arrarsgaar gt 7
(A) 1g (B} 10g
140 Addition reaction of hypochlorous acid with propyne gives the product -
(A} 1, 2-Dichloropropanal (B) 1, I-Dichloropropanone
(€) 1-Chloropropanone (D) 1-Chloropropanal
A T W ) A sfiem & @ 9T 9N B
(A) 2, 1B B) 1, |Iﬂﬂ?ﬂﬁﬁﬁ=ﬂq
141 ' r 5
;:ar;; ::: tollowing Compounds in decreasing order of acidic strength -
: i'i'“i'“ﬁ“ﬂ?“ﬁm it wef & w9 A aEited St -
? - OH OH
NO, :
CH
o ¢h iy
(A IH>1>q
Ky N>mrsq (BYy [=>1I=MHI
LAL-43 (8] D) g=1>11
28 [RT'ﬂ



4 et

g One litre of & buffer sopyy,

5 has pH of - Containing 0.01 M NH,Cl and 0-1M NHOH having pK,, of

(A) 9
() 4 (B 0
' (D) 6

3 If pH of solution is 5.2, thep ;4 5OH wil
] ]}E -
oy ft fewaT & pH 52 % @ gwe pOH &M -

(A) 45 . (B) 5.8
(C) 6.8 ) &8

4 Which of the following solution acts as a buffer ?
fet % 4 S faees 96t & vy F 1 s 27
(A) HCl + NaCl (B) NaOH + HCI
(C) CH4COOH + CH;COONa (D) HCOOH + HCOONH,

145 The total pressure of a mixture of two gases is -
(A} The sum of partial pressure of each gas
(B} The differcnce in partial pressure of both the gases
{C) The product of partial pressure of both the gases
(D) The ratio of partial pressure of both the gases
et <t it % P @1 3@ 9 E -
() Wi g % i T8 # AT
(B) Y et & arifd T T AU
(©) 4 el & aifers @@ B T
(D) < et & orifers T B AT

PV = nRT, which one cannot be the pumerical value of R 7
1K

46 In ideal gas equation FY -
(A) 8314 % 107 erg mf*

(B8) 8.314 J mol™! K] 3
(C) 8314 Pa m3 mol K

D FLET
.

i -
(&) 8314107 ot T b
(B) 8314 e A }:;nﬁ" el
(C) 8314 qree HIE 2

1
(D) 314 argavse "
L“’tl-d,s] G

[PT.O,



lg's law 18 -
147 Correct representation of Boyle's

148

149

150

giaw % Prow @ wh freem & -

(4) pt K ® pT

V=

Vo
© Pt \ D pT ==
Vo Vo

Which is not correct statement in terms of kinetic theory of gases ?
(A) Gases are made up of small particles called molecules.
(B) The molecules are in random motion.

(C) When molecules collide, they lose energy,

(D) When the gas is beated, the molecules move faster,

el % v wol Rewr % ok ¥ o ¥ o oo wh A R 7
(A) ﬁaﬁmmﬁﬁﬁﬁmmﬁrtﬁnﬁmﬂﬂﬁtl

(B) Wﬂﬁﬂﬁﬂﬁﬂﬁﬁﬁﬁﬁlﬁ[t] ;

(C) ﬂﬂ#mzﬁtﬂ%ﬂmmiaﬁmﬁﬂﬂtl

(D ﬁuﬁrnﬁmﬁmaﬂaﬁuﬁwﬁrwmtt

Unit of surface lension :

TE T W g ¥ -

(A)  dynes cm™2 (B) ergs/cm

© Jm (D) Nm'

The i.mcrf'ul_]. resistance flow i liquid is called -

m s (B) Specific resistance
D) Surface tension

o " -{ )
(B) ffyre sfer
(D) g 7
30




